1.

& 1A AD = BD, DF = EF ©|t}. CE = 7cm

&, BC ¢

4ol & Fstoiet.

A

D
B C 7cm E
> cm
> HED 14 cm
A
D,

B C 7em E
3 D & A1 BE o Wah<d F At AC 2] ¥ H 21
5l ADFH = AEFC(SASE-%5) ©]2& DH = CE = 7(cm)
AABC °4 BC = 2DH = 14(cm)




“-15cm ---~

vV V¥
X
it

~&B ~

5:(56+4+2)=(12-x):(15-x)
5:7=(12-x): (15— x)

2x =9
L9

2
Ezg(cm)




3. The 114 DE//BC & f, x o] 32 Fatelet

x:15=14:30.. x=17




th2 124 AD//PQ//BC ©]1, M,N
= Z+ZF ¥ AB,DC 9] &H-olth. AD =

6,BC =10 & of, A& PQ 9] Ho]=?

@2 03 @1 65

~~ej0---"




th-& 34 AD //BCol1, & M,N©]
72} AB,CD & $H < wf, x o] & 5t
o=t

\VARR 4
0x
i

12

1
14 = §(x+ 16),x =12




ttS I3 Zo] AD//BC ¢ AtchEl & ~10cm.
AB.CD o 24< 717t | D

ABCD 9|4 AB,CD 9] %
gt & o, EG 9] Zdo|=?
E F

Q

“~~920ecm--""

® 7cem @ 8cm ® 9cm

(@)5(:111 @ 6cm

EG = %E:Mcm)




oS "4 AB//EF//DCo|2 AB: DC =2:3% u], EF : CD

19

D

BE : DE = 2 : 3°]|22 BE : BD = 2 : 50|t} walA
EF:CD = 2:5°]|th.




oS 8o AB//EF//DCo]|Z2 AB:CD=4:19 uf], EF : AB

=9

A

D1:4 @1;5 ® 2:5 @ 5:2 ® 5:1

AB:CD=4:1°|E2 AE:EC=4:1°]t}. CE:AC=1:5
°]11 AB//EF |22 EF : AB =1: 59]|t}.




9.

AB:AC=BD:CD°E& x:6=06:3 0|t} WatA x =12
olc},




10.

B ~M2em”D™14em-~

@ 14ecm @ 16cm @18(:111 @ 23cm ® 24cm

LA 9] o] 5EA ]E—i,_B:A_C:ﬁ:D_C
x:21=12:14

. x=18cm




11. AABC oA AD & HA|Z}F LA o] o] SR o, x 9] & otH?

@ 9cm @)10cm @ 1llcm @ 12cm ® 13cm

x:(x—2)=5:4
4x =5x-10
. x=10(cm)




12. thZolA AE 9] dol=? (&, AD // EC)

@ 4 @ 6 ® 8

@9 ® 11

B

DA // CE °]2& /DAC = (ACE (%%), /BAD = /AEC
(592, /BAD = /DAC °©|E2 /ACE = /AEC

kA AACE & ©]5 W4zt go]| B2 AE = AC °|t},

wtebA AE 9] Fol= 9 ot




13. o5 Z2™A x 9 gh2?

A
dem /[,
D' 5‘cm
\ /I
3cm E
rem
/
“~6em- " C
1 3 5
® 3 @ 3 ® 3 @3 ® 4
AABC ¢} AAED 94 /A & 35,

/ACB = /ADE = 90° 0|22
AABC @ AAED (AA H5)
AC:AD =BC:ED
(54+x):4=6:3
3b+x)=24

O+x=28 Sox=3




14. ©}e 283 22 gABCD &= At

Hajolth AC = 8cm ,BD =
10cm ©]1, AB,BC, CD, DA o 32 ZZtE, F, G, H =t
o, oEFGH 9] 9] Zdo]=?

@ 16cm @186111 ® 20cm @ 22cm ® 24cm
— 1— 1
— 1— 1
.. (DEFGHS] €8] 4°]) =EF+FG+GH+HE =4+5+
44 5=18(cm)




15. o 1989 AABC ¢4 AD = CD, BE =
17em? & i, ABCD 9] §ol& vr27] 72t 2

A
D
1D
B C
@ 30cm? @ 31cm? @ 32cm?
@ 33cm? ®)34cm?

AABE = AAED = 17(cm2) o]31 AABD = ABCD o|BR =2
ABCD = 34 cm? ©]tt},




16.

T} 124 AD//BC o], A E, F = 7}
71’AB AC_/] Z']OIU-H BC—/]7]01—LL;

® 6cm @ 8cm @100m
@ 12cm ® 14cm

Aol S A27g ol osf,
EG=2cm  .EF=5cm
m2tA] BC = 10cm




17.

- DE =6cm




18.

o7 )8 ® 9

AQ:AP=AE:AC=24:15=8:5
AQ:AP=DQ:BP

8:5=DQ:5

DQ =8




19. t©2 179 aABC A BC // DE °|X, A
PE = GCm,m = 5cm,@ = 10cm 4 9,

AD : DB &7
D,

P| 6emr
D 1:2 @3:5 @3;2 ./ L

5emrQ™~10em-"
@ 3:4 ®2:1

BC // DE o|B&2
@:ﬁzA_Q:ﬁ:E:E:5:3
AD:DB=3:2




20. 2 JYHNA DE/BC € W, x +y 2] 32?2

y=10
10:4=5:x
x=2

AADE 00 AABC 0| B2
10:14=y:(y+4)

T x+y=12




Edo] doj7t 24 A wfj, AC 9] Zo]E 15 ].oqa_

=99 dol=
AB + BC + CA = 480|t}. wHahA]
AC =48-18-16 = 14°]t}.




22. o2 24 AB 9] 3 5EH] 44 E, F
ot EP =5 4 o], EC ¢} PC 2] Zo]o] g

\VARR 4
0x
iy

35

~&B ,

FD = 2EP = 10

CE = 2DF =20
PC=EC-EP=20-5=15

kA Zo]o] §h2 20 + 15 = 35 ©|t}.




23. o= la‘ﬂr 1 AD//TJ 2l *}D}ﬂiu 1‘41 7ol 24 0 & Aut

@ 7.lem @)7.2cm @ 7.3cm

@ 7.4cm ® 7.5cm

B ~
AD//BC °©]E& AAOD < ACOB

~ AO:CO=AD:CB=6:9=2:3

AAEO @ AABC o]B 2

AO:AC=EO:BC=2:5

EO:9=2:5.. EO = 3.6(cm)

ADOF ©0 ADBC ©|E2

OF:BC=DO:DB=2:5

OF:9=2:5.. OF =3.6(cm)

. EF = EO + OF = 3.6 + 3.6 = 7.2(cm)




24. o= "R /m [/nd

, x 9] g7




® /ACD, BC @ /ACD, CD ® /ACD, AB

@)/AFC, CD ® (AFC, AD

ABDA A BA :FA =BD:CD o]t}




26. t2 1Y % DE//BC 9 A& F 71x] 129H?

00 2066 006 @Doe 6ae

~&B

© DE//BC &', AE: ED = AC : CB °|t}.
4:8=5:10 9|22 DE//BC °]t}.
® DE//BC &tH, AE : AD = AC : AB °]t}.
8:12=6:9°]22 DE//BC °|t}.




27. g I%o|A BC//DE € W, x +y & F5}H?

® 9 @ 10 @ 10.5 ®)11 ® 115

4:6=x:1201EH% x =38
AB:DB=AC:ECO|BE26:2=9:y
y=3

Lxt+y=11




28. tha IHAA x+y of #27

® 13.2 @ 155 ® 16 ®)16.2 ® 16.8




29. & 994 AB//DE ©]a2 AC =2, CD =9, BC = 3, DE
A, x o] FH2?

@ 6 @ 5 ® 45 @)4 ® 34

AB//DE ©]|2& ACAB 0 ACED ©]t}.
AB :DE =BC: DC
x:12=3:9 SLox=4




30.

1S 1804 BC //DE ¥ w, AABC 9] Ed|¢] Zo]=?

@240111 @ 26cm ® 27cm

@ 30cm

® 32cm

~&B

AADE 0 AABC(AA 2ol
H=H7t1:20]BE8

(AABC 2] Ed|2] 4o])

= 2x(AADE ] 9] Zo])= 24(cm)




